MORE BALANCING PROBLEMS
Complete each of the following synthesis reactions and balance:
4Sc + 30, = 2Sc,03
3K + N> -> 2Ks5N
H,O + SO3 - Hy,S04
NH; + HC1 -> NH,C1

K,0 + CO, -> K,CO;3

Complete each of the following decomposition reactions and balance:
2Cu0 = 2Cu + 02

SiCl, -> Si + 2C1,

CaCoOs3 - CaO + CO2

2505 -> 25 + 30;

2H,0 -> 2H, + (o2}

Complete each of the following single replacement reactions and balance:
Cd (NO3) » + 2Ag - 2AgNOs; + Ccd

UFs + 3Zn -> 3ZnF, + U

Snl, + 2C1, - SnCl, + 21,

CasP» + 3Br; -> 3CaBr, + 2P

2Fe,03 + 3Pt -> 3Pt0, + 4Fe

Complete each of the following double replacement reaction and balance:
3ZnCOs + 2H3PO, -> Zns (PO4) 2 + 3H,COs3

2NaClOs + CaS0, -> Ca(Cl03)» + Na,SO0,

2Au,S3 + 3PbC - Au,Cs + 3PbS;

W(SO04) 3 + 2Y (C1l04) s - W(ClO4)s + Y, (S04) 3



